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|”"> Ise if(45<val3)( // 18 w»&:inn
naloghrite(E1,255): Gt
/I motor | direction digitalWrite(Ml, HIGH); //% s
delay(500);
Bk W B iR
01 ) 0 AR% R gl ﬁﬁ'ﬁ,’gﬁ
" ‘;(IH)J. Y e \r(}(k\'1113.\.\\‘1;12<45)( /141 n e i
lode(LED4, ) ogWrite(El,255); N
aMode(M1. OUTPUT) sitalWrite(M1, LOW); //MNgHsst =]
pinMode(El. OUTPUT); delay(500); ;—'T.‘é;;}
Serial .b 1(9600) ; } R RE
1 Ise{
analogWrite(EL,0);
d loop() { ligitalWrite(LED3. LOW):
1t val2 = analogRead(A2): digitalWrite(LED4, LOW):
1t val3 = analogRead(A3); )
Serial .printIn(val3);

f(200<val2)( 7/ 0GR
talWrite(LED3, HIGH): //¥%
talWrite(LED4, LOW);

se 1f(160<val 2bkval2<190)(
¢(LED4, HIGH): /
Write(LED3, LOW);

BB

B07501059 +AR— EZ=E#H
B07501092 tA— RER
B07501102 tAR— EBEMH
B0O7501105 £AR— E&XIE
B04601026 =£&IN =ZEE

104



